RIRH4 EHMTREZREREZENES 5481 BHE
A0 107,716 N |[HH%HE 52,104
65 Ll A0 33581 A |18mEim AL 14,685 A
ANO LS 31.2% AOLbE: 13.6%
REZEREZE| FEREZE &t
EH#H(AN) 176 16 192
R 2| 69 3 72
=3
RizE-mE | O/1RE |2 182 12 12:
EEL o : >
= REM 23 1 24
15 4F 66.257% 617% 65.78%%
— ANEHE L 205
(8 5D
Hh X %1 16 H[X
"B (RBE . A8 1EH) T SEAERRT (EE./ R)
LB A KA E...5 A ?’Q‘S‘% #2028
N = -RES BA—HAERO BB
BleR-3A HMEXERR16A BER B8ACHATRORER+H
K514 %
SEtEEE. oA &3 28N X FER 16HREIEHKE L8
£87 3&F
HEER (B4 A8 HEEFHRR (FEOMELLE)
TEFHERSE 17TA FHE., H=HE
it & 18 A FHE., =S
[LERERE 17TA FHE, LHREFRIT(FE2E)
REEHS 19A FHE., H=HE
FEREZFEIE 19A FHE, HETHE, AR ME
[L 3R LR AR FEAT(E2E)
e HEZEWE. 7A0—T7vTHHE
Ifgfiﬁﬂmﬁ
Hyl')l\ﬂﬁ =[] _7“
,%$D4£'Er§) DE ##k&b
ZDith EENEREROER
J=7byb, ¥Z17 .
V. BHIE LR |LBREIEATZIESL <TDXK]
GuX.FoI%
DEEY




